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T4 = o Hi R 1213m
ks & d=bry TH A& (57 5] 2 289m
AREBS— 3 No. SAJ24-GS-51/91
14AH 2 KH
aA— ATy H— NI T —RR a—RA v H— A EH
TR 39 (39) A A — R 8:55 M5 41(39) 2 — IR 12:15
KA E =8 Hard PN E =8 Hard
2B —K/T 4=y a kiR -9.2C / -7.9C 2B —K/T 4=y a kiR -5.9C / -4.6°C
F=870
NEAT Ag=b =N EEHEE - 1K 24A&KH & &t
No No K4 Fr B 4 BE R OBF R B M
1 1 963191 J#EE AF XKL 2:05.73 2:01.14 4:06.87
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2012-02-04 / FFDARFR F— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO
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M EERE TH A& (57 5] 2 289m
AREBS— 3 No. SAJ24-GS-51/91
14AH 2 KH
a— Ry H— NI TR a— Ry H— A EF
TR 39 (39) A A — R 8:55 M5 41(39) 2 — IR 12:15
KA E =8 Hard PN E =8 Hard
2B —K/T 4=y a kiR -9.2C / -7.9C 2B —K/T 4=y a kiR -5.9C / -4.6°C
F=870
NEAT Ag=b =N EEHEE 1K 24A&KH & &t
No No K4 B 4 1L L I 5| H%E fH]
1 3 963192 % e | X RL 2 1:53.00 1:53.32 3:46.32
2 2 963194 [LFE  KRIKRER X RL 2 1:58.44 1:53.03 3:51.47
3 5 964881 WE EK A% 2 2:00.77 2:00.72 4:01.49
4 4 963197 wA @Rk X RL 2 2:04.34 2:02.74 4:07.08
5 8 670181 #1 HEA X RL 2 2:17.12 2:03.53 4:20.65
DID NOT START [1st RUN]
6 964871 LB EEAH 7R
DID NOT FINISH [1st RUN]
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
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DATA PROCESSING by SE I KO

TIMING by SET KO
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NEAT Ag—b =N EEHEE 14AH 2KH & F
No No K4 Fr B 4 BE R OBF R B M
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 1
7 970180 HMEJR o R 1
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DATA PROCESSING by SE I KO TIMING by SET KO
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A DA K BlfiE 2 — R
F5k By =EE i (57 B ] 2K — i 1502m
T4 = o Hi R 1213m
ks & d=bry TH A& (57 5] 2 289m
AREBS— 3 No. SAJ24-GS-51/91
14AH 2 KH
aA— ATy H— NI T —RR a—RA v H— A EH
TR 39 (39) A A — R 8:55 M5 41(39) 2 — IR 12:15
KA E =8 Hard PN E =8 Hard
2B —K/T 4=y a kiR -9.2C / -7.9C 2B —K/T 4=y a kiR -5.9C / -4.6°C
F=870
NEAT Ag=b =N EEHEE - 1K 24A&KH & &t
No No K4 Fr B 4 BE R OBF R B M
1 9 963190 /NHI BHAFE X RL 4 2:02.09 1:56.20 3:58.29
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2012-02-04 / FFDARFR F— G8/ 1
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F5k By =EE i (57 B ] — b Hh 1502m
T 4=y a s 1213m
M EERE TH A& (57 5] 2 289m
AREBS— 3 No. SAJ24-GS-51/91
14AH 2 KH
aA— ATy H— NI T —RR a—RA v H— A EH
TR 39 (39) A A — R 8:55 M5 41(39) 2 — IR 12:15
KA E =8 Hard PN E =8 Hard
2B —K/T 4=y a kiR -9.2C / -7.9C 2B —K/T 4=y a kiR -5.9C / -4.6°C
F=870
NEAT Ag=b =N EEHEE - 1K 24A&KH & &t
No No K4 B 4 1L L I 5| H%E fH]
1 11 953553 #A FnsE SEED 4 1:28.04 1:28.21 2:56.25
2 10 952299 /g fdEsh 7T RA 4 1:31.16 1:30.87 3:02.03
3 14 950987 EHE UK X RL 4 1:31.56 1:32.84 3:04.40
4 17 950989 JEE  —i» A2 3 1:31.88 1:33.03 3:04.91
5 15 964874 /NEE PR A7 50 3 1:35.54 1:32.39 3:07.93
6 16 959497 K Ak X RL 3 1:36.36  1:37.74 3:14.10
7 12 953400 L& EAER AR NI 4 1:45.75 1:43.27 3:29.02
DID NOT START [1st RUN] 1
13 958425 kM Kk g5 S C 4
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
2012-02-04 / FFDARFR F— G8/ 1

DATA PROCESSING by SE I KO
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NEAT Ag—b =N EEHEE 14AH 2KH & F
No No K4 Fr B 4 BE R OBF R B M
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2012-02-04 / FFDARFR F— G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO
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F5k By =EE i (57 B ] 2K — i 1502m
T4 = o Hi R 1213m
M EERE TH A& (57 5] 2 289m
AREBS— 3 No. SAJ24-GS-51/91
14AH 2 K H
aA— ATy H— NI T —RR a—RA v H— A EH
TR 39 (39) A A — R 8:55 M5 41(39) 2 — IR 12:15
KA E =8 Hard PN E =8 Hard
2B —K/T 4=y a kiR -9.2C / -7.9C 2B —K/T 4=y a kiR -5.9C / -4.6°C
F=870
NEAT Ag=b =N EEHEE - 1K 24A&KH & &t
No No K4 B 4 1L L I 5| H%E fH]
1 18 953874 ¥k Ffk SEED 5 1:17.80 1:18.68 2:36.48
2 19 953557 Rk EH Doing 5 1:25.55 1:18.22 2:43.77
3 20 959169 —M1 X< W 6 1:24.29 1:26.03 2:50.32
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2012-02-04 / FFDARFR F— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO
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F5k By =EE i (57 B ] — b Hh 1502m
T 4=y a s 1213m
M EERE TH A& (57 5] 2 289m
AREBS— 3 No. SAJ24-GS-51/91
1A4H 2 K H
I— Ay F— NI TR I— Ay F— A EH
TR 39 (39) 2 — R 8:55 M5 41(39) 2 — R 12:15
KA E =8 Hard PN E =8 Hard
A=K7 4=y v a iR -9.2°C / -7.9C A=K7 4=y v a KR -5.9C / -4.6C
F=870
NERE Ap=b =N EEHEE - 1K 24A&KH & &t
No No K4 B 4 1L L I 5| H# fH]
1 23 939760 ‘23 FPE XKL 5 1:23.94 1:22.60 2:46.54
2 21 955858 ‘HiE 5K AT 5 1:22.88 1:26.38 2:49.26
3 24 965367 FE{ AGTR Sf =T 4 6 1:25.63 1:26.16 2:51.79
4 29 953561 [HWH & VLVl 5 1:29.97 1:29.94 2:59.91
5 28 971408 ZiE Bih Doing 6 1:32.70 1:32.26 3:04.96
6 22 947440 |l R XKL 5 1:33.13 1:34.54 3:07.67
7 27 965426 &) EAN A% 6 1:37.75 1:32.36  3:10.11
DID NOT START [1st RUN] 2
25 952370 UM ooH 5
26 947429  HEF HE 7R 4
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
2012-02-04 / FFDARFR F— G8/ 1
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TIMING by SET KO
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NEAT Ag—b =N EEHEE - 14AH 2KH & F
No No K4 Fr B 4 BE R OBF R B M
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2012-02-04 / FFDARFR F— G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO
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F5k By =EE i (57 B ] — b Hh 1502m
T 4=y a s 1213m
M EERE TH A& (57 5] 2 289m
AREBS— 3 No. SAJ24-GS-51/91
1A4H 2 K H
aA— ATy H— NI T —RR a— ATy H— A EH
TR 39 (39) A A — R 8:55 M5 41(39) 2 — IR 12:15
KA E =8 Hard PN E =8 Hard
2B —K/T 4=y a kiR -9.2C / -7.9C 2B —K/T 4=y a kiR -5.9C / -4.6°C
F=870
NEAT Ag=b =N EEHEE - 1K 24A&KH & &t
No No K4 B 4 1L L I 5| H# fH]
1 30 955859 HuH FAH M AL 3 1:17.42 1:18.60 2:36.02
2 33 931031 KK FH BHEES C 2 1:18.04 1:19.00 2:37.04
3 32 947434 EF RE B S C 1 1:20.86 1:22.57 2:43.43
4 31 931028 kT HijEE XKL 2 1:23.58 1:24.22 2:47.80
5 36 953430 K& HITM BA$E S C 3 1:26.53 1:27.43 2:53.96
6 34 931026 HA 9 XKL 2 1:25.91 1:28.16 2:54.07
7 37 970169 FH B#&Th T =TRC 2 1:32.02 1:31.20 3:03.22
8 35 931027 HKIR Z=EF AR NI 2 1:34.67 1:36.46 3:11.13
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
2012-02-04 / FFDARFR F— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO
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F=870
NEAT Ag—b =N EEHEE 14AH 2KH & F
No No K4 Fr B 4 BE R OBF R B M
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2012-02-04 / FFDARFR F— G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO
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T 4=y a s 1213m
M EERE TH A& (57 5] 2 289m
AREBS— 3 No. SAJ24-GS-51/91
14AH 2 K H
aA— ATy H— NI T —RR a—RA v H— A EH
TR 39 (39) A A — R 8:55 M5 41(39) 2 — IR 12:15
KA E =8 Hard PN E =8 Hard
2B —K/T 4=y a kiR -9.2C / -7.9C 2B —K/T 4=y a kiR -5.9C / -4.6°C
F=870
NEAT Ag=b =N EEHEE - 1K 24A&KH & &t
No No K4 B 4 1L L I 5| H%E fH]
1 45 120001 +R ITX SEED 1 1:16.93 1:17.37 2:34.30
2 44 958418 IO EHA AT 4 1 1:18.50 1:19.26 2:37.76
3 40 958426 kH &A B S C 1 1:19.09 1:22.35 2:41.44
4 43 959086 TN BEME X RL 1 1:23.77 1:25.25 2:49.02
DID NOT START [1st RUN] 2
38 916185 fiiF: bz R 3
39 924251 AF A SRR 2
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
2012-02-04 / FFDARFR F— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO
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NEAT Ag—b =N EEHEE 14AH 2KH & F
No No K4 Fr B 4 BE R OBF R B M
DID NOT FINISH [2nd RUN] 1
41 940815 #H)I| Bk A7 TY 1
DISQUALIFIED [2nd RUN] 0
2012-02-04 / FFDARFR F— G8/ 2
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F5k By =EE i (57 B ] 2K — i 1502m
T4 = o Hi R 1213m
M EERE TH A& (57 5] 2 289m
AREBS— 3 No. SAJ24-GS-51/91
14AH 2 KH
aA— ATy H— NI T —RR a—RA v H— A EH
TR 39 (39) A A — R 8:55 M5 41(39) 2 — IR 12:15
KA E =8 Hard PN E =8 Hard
2B —K/T 4=y a kiR -9.2C / -7.9C 2B —K/T 4=y a kiR -5.9C / -4.6°C
F=870
NEAT Ag=b =N EEHEE - 1K 24A&KH & &t
No No K4 B 4 1L L I 5| H%E fH]
1 46 923989 /IH BT SEED 1 1:14.24 1:15.65 2:29.89
2 48 949713 B oK Eﬂm 1 1:14.40 1:15.56 2:29.96
3 47 955857 HiE ZEit N AE 1 1:14.22 1:16.94 2:31.16
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2012-02-04 / FFDARFR F— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



